



$$Ans1 = \left[ \begin{array}{l} .1 = (f(x) = 10x - 4) \\ .2 = (f(x) = 6x^2) \\ .3 = \left( f(x) = -\frac{3}{x^2} \right) \\ .4 = \left( f(x) = \frac{2}{x^{(2/3)}} \right) \end{array} \right], \quad Ans2 = \left[ \begin{array}{l} .1 = (f(3) = 108) \\ .2 = \left( f(2) = \frac{-3}{4} \right) \end{array} \right], \quad Ans4 = \left[ \begin{array}{l} .1 = \left[ f(4) = \frac{97}{16} \right] \\ .2 = [f(-2) = 2201] \end{array} \right]$$

$$Ans3 = \left[ \begin{array}{ll} \begin{array}{l} .1 = (f(x) = 10x - 4) \\ .3 = (f(x) = 35x^6 + 12x^3 + 15x^2 - 3) \\ .5 = \left( f(x) = \frac{2}{\sqrt{x}} + 5 + \frac{1}{2x^{(3/2)}} \right) \\ .7 = (f(x) = 80x^3 + 42x^2 + 12x + 2) \\ .9 = \left( f(x) = -\frac{32}{(4 + 3x)^2} \right) \\ .11 = \left( f(x) = \frac{3x^6 - 3x^4 - 15x^2 - 25}{x^6} \right) \end{array} & \begin{array}{l} .2 = (f(x) = 6x^2) \\ .4 = \left( f(x) = 2x^4 + \frac{2}{3}x \right) \\ .6 = \left( f(x) = -\frac{3}{4x^{(7/4)}} + \frac{4x^{(1/3)}}{3} - \frac{1}{4x^{(5/4)}} - \frac{4}{3x^{(7/3)}} \right) \\ .8 = \left( f(x) = -\frac{-3x + 8\sqrt{x} - 3}{2\sqrt{x}} \right) \\ .10 = \left( f(x) = \frac{x^{(7/2)}(65x^2 + 9)}{2} \right) \\ .12 = \left( f(x) = \frac{-20x^5 - 170x^4 - 300x^3 + x^2 + 10x + 15}{(x + 5)^2} \right) \end{array} \end{array} \right], \quad \left[ \begin{array}{l} \text{:)} \\ \text{:} ( \\ \left[ \begin{array}{l} P \\ V \\ S \\ S \end{array} \right] \\ \& \\ \left[ \begin{array}{l} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{array} \right] \\ \text{:)} \\ \text{:} ( \end{array} \right]$$

:  
:  
:  
:  
:  
:  
:

$$Ans1 = \begin{bmatrix} .1 = (f(x) = 4x + 5) \\ .2 = (f(x) = 6x^2) \\ .3 = \left(f(x) = -\frac{3}{x^2}\right) \\ .4 = \left(f(x) = \frac{2}{\sqrt{x}}\right) \end{bmatrix}, \quad Ans2 = \begin{bmatrix} .1 = (f(4) = 240) \\ .2 = \left(f(2) = \frac{-3}{4}\right) \end{bmatrix}, \quad Ans4 = \begin{bmatrix} .1 = [f(-2) = 44] \\ .2 = \left[f(4) = \frac{-1}{8}\right] \end{bmatrix}$$

$$Ans3 = \begin{bmatrix} .1 = (f(x) = 4x + 5) & .2 = (f(x) = 6x^2) \\ .3 = (f(x) = 10x^4 + 16x^3 - 6x) & .4 = \left(f(x) = \frac{4x^3}{3} + \frac{3}{2}\right) \\ .5 = \left(f(x) = 1 - \frac{5}{2\sqrt{x}} + \frac{1}{x^{(3/2)}}\right) & .6 = \left(f(x) = -\frac{1}{6x^{(7/6)}} - \frac{5}{6x^{(11/6)}} + \frac{1}{6x^{(5/6)}} - \frac{6}{5x^{(11/5)}}\right) \\ .7 = (f(x) = 9x^2 - 12 + 6x) & .8 = \left(f(x) = -\frac{-3x - 3 + 4\sqrt{x}}{2\sqrt{x}}\right) \\ .9 = \left(f(x) = -\frac{16}{(3x - 1)^2}\right) & .10 = \left(f(x) = -\frac{x^{(3/2)}(-5 + 26x^4)}{2}\right) \\ .11 = \left(f(x) = \frac{5x^6 - 15x^4 - 12x^2 - 60}{x^6}\right) & .12 = \left(f(x) = \frac{12x^5 - 48x^4 - 180x^3 + 2x^2 - 20x - 30}{(x - 5)^2}\right) \end{bmatrix}, \quad \begin{bmatrix} :) \\ :( \\ \left[ \begin{matrix} P \\ V \\ S \\ S \end{matrix} \right] \\ \& \\ \left[ \begin{matrix} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{matrix} \right] \\ :) \\ :( \end{bmatrix}$$

$$\text{Ans1} = \left[ \begin{array}{l} .1 = (f(x) = 4x + 4) \\ .2 = (f(x) = 15x^2) \\ .3 = \left( f(x) = -\frac{5}{x^2} \right) \\ .4 = \left( f(x) = \frac{1}{x^{(2/3)}} \right) \end{array} \right], \quad \text{Ans2} = \left[ \begin{array}{l} .1 = (f(6) = 324) \\ .2 = \left( f(-3) = \frac{4}{9} \right) \end{array} \right], \quad \text{Ans4} = \left[ \begin{array}{l} .1 = [f(2) = 148] \\ .2 = [f(4) = -3] \end{array} \right]$$

$$\text{Ans3} = \left[ \begin{array}{l} .1 = (f(x) = 4x + 4) \\ .3 = (f(x) = 15x^4 - 4x^3 - 15x^2) \\ .5 = \left( f(x) = \frac{1}{2\sqrt{x}} - \frac{2}{x^{(3/2)}} - 3 \right) \\ .7 = (f(x) = 12x^2 + 2x - 9) \\ .9 = \left( f(x) = -\frac{21}{(3x - 2)^2} \right) \\ .11 = \left( f(x) = \frac{16x^7 - 4x^4 - 20x^3 - 25}{x^6} \right) \\ .2 = (f(x) = 15x^2) \\ .4 = \left( f(x) = \frac{9}{2}x^2 + x \right) \\ .6 = \left( f(x) = \frac{1}{6x^{(5/6)}} + \frac{6x^{(1/5)}}{5} - \frac{6}{5x^{(11/5)}} - \frac{5}{6x^{(11/6)}} \right) \\ .8 = \left( f(x) = \frac{3x + 1 + 4\sqrt{x}}{2\sqrt{x}} \right) \\ .10 = \left( f(x) = \frac{-4 + 15x^2}{2\sqrt{x}} \right) \\ .12 = \left( f(x) = \frac{20x^5 + 53x^4 - 24x^2}{(x + 2)^2} \right) \end{array} \right], \quad \left[ \begin{array}{l} :) \\ :( \\ \left[ \begin{array}{l} P \\ V \\ S \\ S \end{array} \right] \\ \& \\ \left[ \begin{array}{l} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{array} \right] \\ :) \\ :( \end{array} \right]$$

:  
:  
:  
:  
:  
:  
:



$$\text{Ans1} = \left[ \begin{array}{l} .1 = (f(x) = 6x + 1) \\ .2 = (f(x) = 12x^2) \\ .3 = \left( f(x) = -\frac{2}{x^2} \right) \\ .4 = \left( f(x) = \frac{3}{\sqrt{x}} \right) \end{array} \right], \quad \text{Ans2} = \left[ \begin{array}{l} .1 = (f(6) = 432) \\ .2 = (f(1) = -8) \end{array} \right], \quad \text{Ans4} = \left[ \begin{array}{l} .1 = [f(-2) = 2608] \\ .2 = \left[ f(4) = \frac{47}{16} \right] \end{array} \right]$$

$$\text{Ans3} = \left[ \begin{array}{l} .1 = (f(x) = 6x + 1) \\ .3 = (f(x) = 35x^6 - 18x^5 - 5x^4 + 16x^3) \\ .5 = \left( f(x) = 3 - \frac{5}{2x^{(3/2)}} + \frac{1}{2\sqrt{x}} \right) \\ .7 = (f(x) = 8x^3 + 42x^2 + 38x - 5) \\ .9 = \left( f(x) = -\frac{25}{(4x - 5)^2} \right) \\ .11 = \left( f(x) = \frac{-4x^3 - 10x^2 - 24x - 40}{x^5} \right) \end{array} \right], \quad \left[ \begin{array}{l} .2 = (f(x) = 12x^2) \\ .4 = \left( f(x) = \frac{5}{2}x^4 - \frac{8}{3}x^3 - x \right) \\ .6 = \left( f(x) = -\frac{1}{3x^{(4/3)}} - \frac{2}{3x^{(5/3)}} + \frac{2}{3x^{(1/3)}} - \frac{3}{2x^{(5/2)}} \right) \\ .8 = \left( f(x) = \frac{3x - 1 + 10\sqrt{x}}{2\sqrt{x}} \right) \\ .10 = \left( f(x) = \frac{20x^3 + 3}{2x^{(3/2)}} \right) \\ .12 = \left( f(x) = \frac{4x^3 - 21x^2 - 90x - 50}{(x - 5)^2} \right) \end{array} \right], \quad \left[ \begin{array}{l} :) \\ :( \\ \left[ \begin{array}{l} P \\ V \\ S \\ S \end{array} \right] \\ \& \\ \left[ \begin{array}{l} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{array} \right] \\ :) \\ :( \end{array} \right]$$

:  
:  
:  
:  
:  
:  
:



















$$Ans1 = \begin{bmatrix} .1 = (f(x) = 2x + 3) \\ .2 = (f(x) = 6x^2) \\ .3 = \left( f(x) = -\frac{4}{x^2} \right) \\ .4 = \left( f(x) = \frac{1}{\sqrt{x}} \right) \end{bmatrix}, \quad Ans2 = \begin{bmatrix} .1 = (f(2) = 36) \\ .2 = \left( f(3) = \frac{-10}{27} \right) \end{bmatrix}, \quad Ans4 = \begin{bmatrix} .1 = [f(-2) = 1184] \\ .2 = \left[ f(1) = \frac{5}{2} \right] \end{bmatrix}$$

$$Ans3 = \begin{bmatrix} .1 = (f(x) = 2x + 3) & .2 = (f(x) = 6x^2) \\ .3 = (f(x) = 14x^6 - 18x^5 - 20x^4 - 4x^3) & .4 = \left( f(x) = \frac{2}{3}x^3 - \frac{8}{3}x - \frac{1}{2} \right) \\ .5 = \left( f(x) = 3 - \frac{5}{2\sqrt{x}} + \frac{2}{x^{(3/2)}} \right) & .6 = \left( f(x) = -\frac{1}{5x^{(6/5)}} - \frac{5}{2x^{(7/2)}} - \frac{2}{5x^{(7/5)}} + \frac{1}{5x^{(4/5)}} \right) \\ .7 = (f(x) = 18x^2 - 12x + 8x^3 - 20) & .8 = \left( f(x) = -\frac{-3x + 8\sqrt{x} + 5}{2\sqrt{x}} \right) \\ .9 = \left( f(x) = -\frac{29}{(4 + 3x)^2} \right) & .10 = \left( f(x) = \frac{3(12x^4 + 1)}{2\sqrt{x}} \right) \\ .11 = \left( f(x) = \frac{8x^5 - 20x^3 - 12x^2 - 60}{x^5} \right) & .12 = \left( f(x) = \frac{25x^6 + 170x^5 + 125x^4 - x^2 - 10x - 5}{(x + 5)^2} \right) \end{bmatrix}, \quad \begin{bmatrix} :) \\ :( \\ \begin{bmatrix} P \\ V \\ S \\ S \end{bmatrix} \\ & \\ \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{bmatrix} \\ :) \\ :( \end{bmatrix}$$

:  
:  
:  
:  
:  
:













$$Ans1 = \left[ \begin{array}{l} .1 = (f(x) = 8x + 1) \\ .2 = (f(x) = 15x^2) \\ .3 = \left( f(x) = -\frac{4}{x^2} \right) \\ .4 = \left( f(x) = \frac{2}{\sqrt{x}} \right) \end{array} \right], \quad Ans2 = \left[ \begin{array}{l} .1 = (f(4) = 192) \\ .2 = \left( f(-2) = \frac{3}{2} \right) \end{array} \right], \quad Ans4 = \left[ \begin{array}{l} .1 = \left[ f(4) = \frac{-13}{8} \right] \\ .2 = [f(2) = 1432] \end{array} \right]$$

$$Ans3 = \left[ \begin{array}{l} .1 = (f(x) = 8x + 1) \\ .3 = (f(x) = 7x^6 + 24x^5 + 15x^4 - 6x^2) \\ .5 = \left( f(x) = -\frac{1}{x^{(3/2)}} - 1 - \frac{1}{\sqrt{x}} \right) \\ .7 = (f(x) = 32x^3 + 48x^2 + 24x + 4) \\ .9 = \left( f(x) = -\frac{34}{(3x - 5)^2} \right) \\ .11 = \left( f(x) = \frac{4x^5 + 2x^4 - 10x - 15}{x^4} \right) \\ .2 = (f(x) = 15x^2) \\ .4 = \left( f(x) = 6x^3 + 4x^2 - \frac{1}{2} \right) \\ .6 = \left( f(x) = -\frac{5}{4x^{(9/4)}} + \frac{5x^{(1/4)}}{4} + \frac{1}{5x^{(4/5)}} + \frac{4}{5x^{(1/5)}} \right) \\ .8 = \left( f(x) = -\frac{-3x + 10\sqrt{x} - 4}{2\sqrt{x}} \right) \\ .10 = \left( f(x) = -\frac{3x + 2}{2x^{(3/2)}} \right) \\ .12 = \left( f(x) = \frac{6x^3 + 16x^2 + 14x - 20}{(x + 1)^2} \right) \end{array} \right], \quad \left[ \begin{array}{l} :) \\ :( \\ \left[ \begin{array}{l} P \\ V \\ S \\ S \end{array} \right] \\ \& \\ \left[ \begin{array}{l} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{array} \right] \\ :) \\ :( \end{array} \right]$$

:  
:  
:  
:  
:  
:  
:



$$Ans1 = \left[ \begin{array}{l} .1 = (f(x) = 2x + 4) \\ .2 = (f(x) = 6x^2) \\ .3 = \left( f(x) = -\frac{5}{x^2} \right) \\ .4 = \left( f(x) = \frac{2}{\sqrt{x}} \right) \end{array} \right], \quad Ans2 = \left[ \begin{array}{l} .1 = (f(4) = 144) \\ .2 = \left( f(-3) = \frac{4}{9} \right) \end{array} \right], \quad Ans4 = \left[ \begin{array}{l} .1 = [f(-2) = 284] \\ .2 = [f(1) = -2] \end{array} \right]$$

$$Ans3 = \left[ \begin{array}{l} .1 = (f(x) = 2x + 4) \\ .3 = (f(x) = 14x^6 + 24x^5 - 20x^3 + 2x) \\ .5 = \left( f(x) = \frac{5}{2\sqrt{x}} + \frac{1}{2x^{(3/2)}} - 5 \right) \\ .7 = (f(x) = 18x^2 + 38x + 12) \\ .9 = \left( f(x) = -\frac{27}{(x+5)^2} \right) \\ .11 = \left( f(x) = \frac{4x^5 + 10x^4 - 6x - 45}{x^4} \right) \end{array} \right] \left[ \begin{array}{l} .2 = (f(x) = 6x^2) \\ .4 = \left( f(x) = \frac{12}{5}x^2 - \frac{1}{2}x + \frac{3}{5} \right) \\ .6 = \left( f(x) = \frac{1}{5x^{(4/5)}} - \frac{1}{5x^{(6/5)}} + \frac{2}{5x^{(3/5)}} + \frac{5x^{(3/2)}}{2} \right) \\ .8 = \left( f(x) = -\frac{-3x + 2\sqrt{x+4}}{2\sqrt{x}} \right) \\ .10 = \left( f(x) = \frac{x^{(3/2)}(20 + 9x^2)}{2} \right) \\ .12 = \left( f(x) = \frac{8x^5 + 18x^4 - 42x^3 + 21x^2 - 36x}{(x+3)^2} \right) \end{array} \right], \quad \left[ \begin{array}{l} :) \\ :( \\ \left[ \begin{array}{l} P \\ V \\ S \\ S \end{array} \right] \\ & \\ \left[ \begin{array}{l} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{array} \right] \\ :) \\ :( \end{array} \right]$$











$$\text{Ans1} = \left[ \begin{array}{l} .1 = (f(x) = 10x - 4) \\ .2 = (f(x) = 18x^2) \\ .3 = \left( f(x) = -\frac{2}{x^2} \right) \\ .4 = \left( f(x) = \frac{1}{\sqrt{x}} \right) \end{array} \right], \quad \text{Ans2} = \left[ \begin{array}{l} .1 = (f(5) = 375) \\ .2 = (f(-1) = 4) \end{array} \right], \quad \text{Ans4} = \left[ \begin{array}{l} .1 = [f(2) = 3060] \\ .2 = [f(1) = 0] \end{array} \right]$$

$$\text{Ans3} = \left[ \begin{array}{l} .1 = (f(x) = 10x - 4) \\ .3 = (f(x) = 35x^6 + 12x^5 + 25x^4 + 9x^2) \\ .5 = \left( f(x) = \frac{5}{2\sqrt{x}} - 1 - \frac{3}{2x^{(3/2)}} \right) \\ .7 = (f(x) = 12x^2 + 42x + 12) \\ .9 = \left( f(x) = -\frac{11}{(x-2)^2} \right) \\ .11 = \left( f(x) = \frac{15x^5 + 10x^4 - 2x - 4}{x^3} \right) \end{array} \right], \left[ \begin{array}{l} .2 = (f(x) = 18x^2) \\ .4 = \left( f(x) = \frac{25}{2}x^4 - \frac{2}{3}x^3 - x \right) \\ .6 = \left( f(x) = -\frac{1}{6x^{(7/6)}} - \frac{5}{6x^{(11/6)}} + \frac{1}{6x^{(5/6)}} - \frac{6}{5x^{(11/5)}} \right) \\ .8 = \left( f(x) = \frac{3x + 10\sqrt{x+4}}{2\sqrt{x}} \right) \\ .10 = \left( f(x) = \frac{27x^5 - 1}{2x^{(3/2)}} \right) \\ .12 = \left( f(x) = \frac{4x^3 - x^2 - 14x - 15}{(x+1)^2} \right) \end{array} \right], \left[ \begin{array}{l} :) \\ :( \\ \left[ \begin{array}{l} P \\ V \\ S \\ S \end{array} \right] \\ \& \\ \left[ \begin{array}{l} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{array} \right] \\ :) \\ :( \end{array} \right]$$

:  
:  
:  
:  
:  
:  
:



$$Ans1 = \left[ \begin{array}{l} .1 = (f(x) = 4x - 4) \\ .2 = (f(x) = 6x^2) \\ .3 = \left( f(x) = -\frac{6}{x^2} \right) \\ .4 = \left( f(x) = \frac{3}{\sqrt{x}} \right) \end{array} \right], \quad Ans2 = \left[ \begin{array}{l} .1 = (f(6) = 432) \\ .2 = (f(1) = -8) \end{array} \right], \quad Ans4 = \left[ \begin{array}{l} .1 = [f(-2) = 372] \\ .2 = \left[ f(4) = \frac{-5}{2} \right] \end{array} \right]$$

$$Ans3 = \left[ \begin{array}{l} .1 = (f(x) = 4x - 4) \\ .3 = (f(x) = 20x^4 - 4x^3 - 10x) \\ .5 = \left( f(x) = \frac{3}{2\sqrt{x}} - \frac{2}{x^{(3/2)}} - 3 \right) \\ .7 = (f(x) = 64x^3 - 48x + 12x^2 - 5) \\ .9 = \left( f(x) = -\frac{11}{(3x-1)^2} \right) \\ .11 = \left( f(x) = \frac{24x^8 - 22x^4 - 25}{x^6} \right) \end{array} \right], \quad \left[ \begin{array}{l} .2 = (f(x) = 6x^2) \\ .4 = \left( f(x) = 4x^4 - \frac{4}{5}x^3 \right) \\ .6 = \left( f(x) = -\frac{1}{5x^{(6/5)}} + \frac{1}{5x^{(4/5)}} - \frac{4}{5x^{(9/5)}} + \frac{4}{5x^{(1/5)}} \right) \\ .8 = \left( f(x) = \frac{3x - 5 + 6\sqrt{x}}{2\sqrt{x}} \right) \\ .10 = \left( f(x) = -\frac{x^{(3/2)}(-15 + 26x^4)}{2} \right) \\ .12 = \left( f(x) = \frac{20x^6 + 60x^5 - 48x^4 - 12x^3}{(x+3)^2} \right) \end{array} \right], \quad \left[ \begin{array}{l} :) \\ :( \\ \left[ \begin{array}{l} P \\ V \\ S \\ S \end{array} \right] \\ & \\ \left[ \begin{array}{l} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{array} \right] \\ :) \\ :( \end{array} \right]$$









$$Ans1 = \begin{bmatrix} .1 = (f(x) = 2x + 5) \\ .2 = (f(x) = 9x^2) \\ .3 = \left(f(x) = -\frac{5}{x^2}\right) \\ .4 = \left(f(x) = \frac{2}{\sqrt{x}}\right) \end{bmatrix}, \quad Ans2 = \begin{bmatrix} .1 = (f(3) = 54) \\ .2 = \left(f(2) = \frac{-5}{4}\right) \end{bmatrix}, \quad Ans4 = \begin{bmatrix} .1 = \left[f(4) = \frac{55}{16}\right] \\ .2 = [f(-2) = -528] \end{bmatrix}$$

$$Ans3 = \begin{bmatrix} .1 = (f(x) = 2x + 5) & .2 = (f(x) = 9x^2) \\ .3 = (f(x) = 18x^5 - 8x^3 - 9x^2 - 10x) & .4 = \left(f(x) = \frac{5}{2}x^4 + \frac{9}{4}x^2\right) \\ .5 = \left(f(x) = 4 - \frac{5}{2x^{(3/2)}} - \frac{1}{2\sqrt{x}}\right) & .6 = \left(f(x) = -\frac{5}{2x^{(7/2)}} + \frac{1}{5x^{(4/5)}} + \frac{2}{5x^{(3/5)}} + \frac{5x^{(3/2)}}{2}\right) \\ .7 = (f(x) = 40x^3 + 6x^2 + 38x + 3) & .8 = \left(f(x) = -\frac{-3x + 1 + 8\sqrt{x}}{2\sqrt{x}}\right) \\ .9 = \left(f(x) = -\frac{11}{(1 + 3x)^2}\right) & .10 = \left(f(x) = -\frac{-4 + 15x^2}{2\sqrt{x}}\right) \\ .11 = \left(f(x) = \frac{36x^6 + 3x^4 - 8x^2 - 6}{x^4}\right) & .12 = \left(f(x) = \frac{2x^3 - 24x - 10}{(x-2)^2}\right) \end{bmatrix}, \quad \left[ \begin{array}{c} .: \\ .:( \\ \left[ \left[ \begin{array}{c} P \\ V \\ S \\ S \end{array} \right] \right] \\ \& \\ \left[ \left[ \begin{array}{c} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{array} \right] \right] \\ .: \\ .:( \end{array} \right]$$





$$Ans1 = \left[ \begin{array}{l} .1 = (f(x) = 6x + 2) \\ .2 = (f(x) = 6x^2) \\ .3 = \left( f(x) = -\frac{4}{x^2} \right) \\ .4 = \left( f(x) = \frac{2}{x^{(2/3)}} \right) \end{array} \right], \quad Ans2 = \left[ \begin{array}{l} .1 = (f(4) = 288) \\ .2 = (f(1) = -8) \end{array} \right], \quad Ans4 = \left[ \begin{array}{l} .1 = \left[ f(1) = \frac{11}{2} \right] \\ .2 = [f(2) = 2012] \end{array} \right]$$

$$Ans3 = \left[ \begin{array}{l} .1 = (f(x) = 6x + 2) \\ .3 = (f(x) = 35x^6 - 10x^4 - 4x^3 - 9x^2) \\ .5 = \left( f(x) = 5 + \frac{3}{2\sqrt{x}} - \frac{1}{x^{(3/2)}} \right) \\ .7 = (f(x) = 40x^3 + 15x^2 + 32x - 2) \\ .9 = \left( f(x) = \frac{21}{(x+4)^2} \right) \\ .11 = \left( f(x) = \frac{16x^7 - 12x^4 - 20x^3 - 75}{x^6} \right) \end{array} \right], \left[ \begin{array}{l} .2 = (f(x) = 6x^2) \\ .4 = \left( f(x) = \frac{15}{2}x^4 + \frac{16}{5}x^3 - \frac{5}{4} \right) \\ .6 = \left( f(x) = -\frac{1}{5x^{(6/5)}} - \frac{5}{4x^{(9/4)}} + \frac{4}{5x^{(1/5)}} + \frac{5x^{(1/4)}}{4} \right) \\ .8 = \left( f(x) = \frac{3x + 1 + 4\sqrt{x}}{2\sqrt{x}} \right) \\ .10 = \left( f(x) = \frac{39x^6 + 1}{2\sqrt{x}} \right) \\ .12 = \left( f(x) = \frac{20x^5 - 35x^4 - 36x^3 - 10x^2 - 8x}{(x-2)^2} \right) \end{array} \right], \left[ \begin{array}{l} :) \\ :( \\ \left[ \begin{array}{l} P \\ V \\ S \\ S \end{array} \right] \\ & \\ \left[ \begin{array}{l} M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \end{array} \right] \\ :) \\ :( \end{array} \right]$$

:  
:  
:  
:  
:  
:

